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Part!: 50?r 

I, 	-I:'1M,(Dep""ionW'!1~!>,j,? J',i(;,c;;/il4";;il!!l'!>,1'!? 't'JL'~-&-iIl#J;;jt III iJlciM 
&, ",UI.±'CoHtIII ' (10%) 

2 jj(",~Ty'liIl#J'CjtllliJlcil-&,",Jli,lllit 0 (10%) 
(I) Fenofibrate (2'%) 

(2) Celecoxib (2%) 

(3) Mithimazole (2%) 

(4) Clomiphene (2%) 

(5) Buspirone (2%) 

3. 	 ~t4M.1!;t-1t..~!i.IJ'li{Histamine) Hilt H2 -ftt.£;t11'fflPIT,~i..t·Mt.~1.:it1~1f' JE4.7'J$: 
-oft HI &. H2 Jit~.ll.~mt(Antihistamine)~#J ' tJta~ $-~1£1tm&'~;Sf,..fIl j£ (10%) 

(I) Cisplatin (2%) 

(2) Daunuruhicin (2%) 

(3) Tamoxifen (2"/,,) 

(4) Imatinib (2%) 

(5) Irinotecan (2%) 

5. 	 e.i.-~t\J1,t(Parkinson's disease)il1.IAJfft J!J ~N? iltJM±,tJt.ll¥.*.' 9IJ4l.E...:ft1'F FIl.ftt-$-'l ~ 
~;;k•• #J.jj(~J',••~!ll&'".a±'C.~Ill·nO~ 

Part II : 5051­

I. Arachidonic acid metabolites can be fonned from 4 different pathways. Give ONE 

example for each enzymic pathway, name the major enzymes involved, and the I
physiological functions involved. (9%) 


Give an example of arachidonic acid metabolite that fonned from free radicals and 


requiring no enzymic involvement. (I %) 
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2. 	 What is cytochrome P450? Name the cytochrome P450 isozyme responsible for >50% 

of prescription drugs metabolized by the liver. Give nNO examples ofdrugs 

metabolized by this cyiochromeP450 isozyme. (8%) 

Give an example for cytochrome P450 inducer and inhibitor. (2%) 

3. 	 \\!hat is the clinical use, mechanism of action and side effects of the following drugs? 

(20%) 

a. Erythropoietin (2.5%) 

b. Granulocyte colony-stimulating factor (2.5%) 

c. Interleukin~11 (2.5%) 

d. Thrombopoietin (2.5%) 

e. NicorandH (2.5%) 

f. Ivabradine (2.5%) 

g. Ranolazine (2.5%) 

h. Abciximab (2.5%) 

4. 	 Discuss the differences in mechanism of action between angiotensin- converting enzyme 

inhibitors and angiotensin II type 1 receptor antagonist. (10%) 
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